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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3}, or (4} that best completes the blank. Then
mark the carrect choice on your answer sheet.

1- I omitted all the extrancous details while explaining the -—-—--—--- of the matter to him.
1) breach 2) distinction 3) qualm 4) gist

2-  While his brother writes in an unclear and clumsy way, Sam himself is known for his
---------- style of writing.
1) lueid 2) verbose 3) dull 4) feasible

3-  Poultry farms place the eggs into incubators to ---------- the growth of the embryo into
chicken.
I') conquer 2) hasten 3) outline 4) elude

4-  With as many as three witnesses giving evidence against her, the ~----—---- of her claim
that she was innocent was in seriocus doubt.
1) demonstration 2) paradigm 3) veracity 4) empiricism

5-  Idid not like her way of teaching because her lecture had too many digressions; she kept
on wandering to various subjects, most of them not ---——------ to the central idea of her
topic.
1) vulnerable 2) peripheral 3) pertinent 4) loyal

6-  With the advent of electric bulbs and emergency lights, the use of gas lamps became
1) imprecise 2) repetitive 3) idealistic 4) obsolete

7-  The emplovee did not believe the implausible story that Janet ---------- to justify her
absence from work.
1) concocted 2) scrutinized 3) manipulated 4) reassured

8-  The doctor has advised him to ------—--- adhere to the prescribed regimen; otherwise,
there is a danger of relapse of the illness.
1) sequentially 2) strietly 3) ineptly 4) selectively

9-  The - in her speech can put off almost anyone; she urgently needs to tone down
the harsh words she uses,
1) explicitness 2) enigma 3) shortsightedness  4) acerbity

10- He is so wasteful; he has ----—---- all the money that he had borrowed from me, and is
now back again asking for more.
1) allocated 2) neglected 3) depleted 4y accumulated
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the correct choice on your answer sheet.

Good learners work hard. A few things may come casily to lcarners, bul most
knowledge requires clfort (11) -—-—--—-- to put in the time, They talk with others, read
more, study more and carry around when they don't understand, (12) -—--—-—-- about il
belfore they go to sleep, at the gvm, on the bus, Good learners are persistent, When
they fail. they carry on, (13) ---------- that they will figure it out eventually. (14) ------- ;
they learn from their mistakes. Good learners recognize (15) ---------- always fun. But
that does not change how much they love it.

11- 1) which is good learners willing 2) and good learners are willing

3) that good learners willing are 4y willing are good learners
12- 1) thinking 2) to think 3) they think 43 by thinking
13- 1) are confident 2) who are confident 3) thev are confident 4) confident
14- 1) Although 2) In the meantime  3) A casc in point  4) Whereas
15- 1) lcarning not be 2) that lcarning is not

3) to lcarm not to be 4) learning it is not

PART C: Reading Comprehension
Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).

Then mark it on pour answer sheet.

PASSAGE 1:

A planter is a farm implement, usually towed behind a tractor, that sows (plants) seeds
in rows throughout a field. It is connected to the tractor with a drawbar or a three-point
hitch. PPlanters lay the seeds down in precise manner along rows. Planters vary greatly in
size, from | row to 54, with the biggest in the world being the 48-row John Deere
DB120. Such larger and newer planters comprise multiple modules called row units.
The row units are spaced cvenly along the planter al intervals that vary widely by crop
and locale. The most common row spacing in the United States today 1s 30 mches.
Various machines meter out seeds for sowing in rows.

The ones that handle larger seeds iend (o be called planters, whercas the ones thal
handlc smaller sceds tend to be called sced drills, grain drills, and sceders (including
precision sceders). They all share a sct of similar concepls in the ways that they work,
but there iy established usage in which the machines lor sowing some crops including
maize (corn). beans. and peas are mostly called planters. whereas those that sow cereals
are drills. On smaller and older planters, a marker extends out to the side half the width
of the planter and creates a line in the field where the tractor should be centered for the
next pass. 'The marker is usually a single disc harrow disc on a rod on each side of the
planter. On larger and more modern planters. GI’S navigation and auto-steer svstems for
the tractor are often used, eliminating the need for the marker.
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20-
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It is stated in the passage that —-— e,

1) planter cannot work on uncven ficlds

2) planters arc twice as large as sced drills

3) precision seeders handle smaller seeds

4) planters in the US have GPS navigation
The passage points to the fact that ------—---—-----—,
1) precise planting depends on the row’s depth
2) row spacing of over 30 inches is rare

3) John Deere DB 120 comprises row units

4} a disc harrow has two discs on each side
We understand that the ‘marker’ mentioned in the passage (underlined) was ---—--------—-- -

1) installed on large and small planters 2) used to navigate the planter

3) installed on top ol the planter 4) as gecurale as aulo-sleer planters
According to the passage, ‘planters’ sow all the following exeept --——---—--—-—-,

1) *corn’ 2) "beans’ 3) "peas’ 4) *cercals’
The word ‘eliminating’ in the passage (underlined) is closcst 0 —-——mmmmmeeeeme,

1) ‘remove’ 2) "multiply’ 3) *decrease’ 4} lunction’
PASSAGE 2:

'The first development of robotics in agriculture can be dated as early as the 1920s, with
research to incorporate automatic vehicle guidance into agriculture beginning to take
shape. This research led to the advancements hetween the 1930s and 60s of autonomous
agricultural vehicles. The concept was not perfect however, with the vehicles still
needing a cable system to guide their path. Robots in agriculture continued to develop as
technologies in other sectors began to develop as well. It was not until the 1980s,
tollowing the development of the computer. that machine vision guidance became
possible. Other developments over the vears included the harvesting ol oranges using a
robol both in France and the US.

While robots have been incorporaled in indoor industrial sctings lor decades,
outdoor robots for the use ol agriculture are considered more complex and difficult to
develop. This is due o concerns over salcty, but also over the complexity ol picking
crops subject to different environmental factors and unpredictability. There is, however.,
a lot of demand in the market robotics in agriculture. With an aging population, for
example. Japan is unable to meet the demands of the agricultural labor market.
Similarly. the United States currently depends on a large number of immigrant workers.
but between the decrease in seasonal farmworkers and increased efforts to stop
immigration by the government, they too are unable to meet the demand. Businesses are
often forced to let crops rot due to an ability to pick them all by the end of the season.
Additionally, there are concerns over the growing population that will need to be fed
over the next vears. Because of this, there is a large desire to improve agricultural
machinery 10 make it more cost ¢llicient and viable (or continued usc.

Agricultural outdoor robots, according to the passage, arc considered more complex
partly because of -,

1) *salcly concerns’ 2) “dilficultics of opceration’

3) “‘maintcnance problems’ 4) *high-tech (catures’
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It is stated in the passage that the desire to improve agricultural machinery today is best
cneouraged by —-—ce—memmmeeee,

1) mechanical problems ol aging machinery

2) problems leeding the growing population

3) competition from old traditional farming

4) shortage of farm labor in poor countries

The passage points to the fact that ‘autonomous agricultural vehicles® --—-----—---—- !

1) would use robot technology for crop-sowing

2) required a cable system to guide their path

3) were extensively used in the 1950s and 60s

4) incorporated some manual vehicle guidance

We understand from the passage that agriculture in the United States today --—-----—----—- ‘
1) less advanced than Japan in terins of robot use

2) employs [ar more robots than [arm labourers

3) relics more on immigrant workers than robots

4) environmentally dangerous and unprediciable

The word *viable’ in the passage (underlined) is closest to ————-——ceeeee-,

1) “‘cheap” 2) “user-friendly’
3) “available® 4) *practical”
PASSAGE 3:

'The chisel plough is a commeon tool to get deep tillage with limited soil disruption. The
main function of this plough is to loosen and aerate the soils while leaving crop residue
at the top of the soil. 'This plough can be used to reduce the effects of compaction and to
help break up ploughpan and hardpan. Unlike many other ploughs the chisel will not
invert or turn the soil. This characteristic has made it a useful addition to no-till and
low-till [arming practices thal attempt 1o maximise the crosion-prevention benclits of
keeping organic matter and farming residucs present on the soil surface through the
vear, Becausce ol these atiribules, the use ol a chiscl plough is considered by somce 1o be
more suslainable than other types of plough, such as the mouldboard plough. Chiscl
ploughs arc becoming more popular as a primary tillage tool in row crop larming arcas,

Basically the chisel plough is a very heavy duty field cultivator intended to operate at
depths from 15 em to as much as 46 cm. [owever some models may run much deeper.

Each of the individual ploughs, or shanks. are typically set from 229 mm to 305 mm
apart. Such a plough can encounter significant soil drag, consequently a tractor of
sufficient power and good traction is required. Chisel ploughs are made in working
widths from about 2)5 m up to 13)7 m, they are tractor mounted and working depth is
hydraulically controlled. 'Those more than about 4 m wide may be equipped with folding
wings to reduce transport width.

The passage points to the fact that --—--—--—--—-—,

1) compaction helps break up ploughpan and hardpan
2) no-till larming 1s well-known lor its sustainability
3) chiscl ploughs have to be operated with tractors

4) may opcralc at soil depths of far over 1.5 meters
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All of the following about the chisel plough arc correct exeept that if i8 —=-——-cmemmeee,
1) no longer used as a primary tillage tool

2) lor deep tillage with limited soil disruption

3) used mainly to loosen and aerate the soils

4) used to reduce the effects of compaction

It can be concluded from the passage that chisel ploughs ---—--------—-,

1) may increase erosion on wet sandy soils

2) work only with low-till farming practices

3) are efficient at widths of approximately 4 m.

4y require folding wings if they are 13.7 m. wide

It may be understood from the passage that ---------—------ :

1) chisel ploughs are from 229 mm to 305 long

2) heavy duty licld cultivators have 15 cm bladces

3) deep tillage is possible only with chiscl ploughs

4) mouldboard ploughs invert or turn the soil

The word *‘shank’ in the passage (underlined) typically has all the following characteristics
cxcept that it i§ —————ceeeeemee g

1) “narrow’ 2) “curved’ 3) “straight’ 4) “long’
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